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QUESTION 1

What does a collaboration occurrence describe?

A. a particular aspect of a collaboration

B. the instantiation of the pattern specified by the corresponding collaboration
C. an object that is an instance of a collaboration

D. a collaboration that contains a set of actual instances (as opposed to roles)

Correct Answer: B

QUESTION 2

If a data store node has three values and one moves across an outgoing edge, how many are left?
A. two

B. none

C.one

D. three

Correct Answer: D

QUESTION 3

In the exhibit, what is the minimum number of incoming arrows that must provide values for the outgoing arrow to be
given a value?

A. two
B. one
C. none

D. three
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Correct Answer: B

QUESTION 4

What is a structured classifier? A classifier

A. that must have one or more ports

B. which must have private and/or protected structural features
C. with some/all behavior described by its internal structure

D. that must contain parts and connectors

Correct Answer: C

QUESTION 5

OCL expressions may NOT contain which special character or character combinations?
A @

B. ..

C..

Correct Answer: E
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